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AN XX
M BNANY A
EHe: 222308 25 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
hE2ZX 4 AL 2,031,000 2,244,000 A 213,000
= 1,300,000
= 731,000
201 L2yl 297,000 107,000 190,000
= 151,000
= 146,000
01 At 22l bl 265,000 65,000 200,000
OUAXNXE AHIEY 29 20,000
& 20,000
OHEZAX E2(sia22X) 215,000
= 75,000
= 140,000
OADIEENSIG(AMEIEN , HEWN) 30,000
o= 30,000
02 33294l 6,000 6,000 0
OANERZZHZE A2 6,000
03 A2 EH| 26,000 36,000 A 10,000
Ogdal olopoIetf 2 24 6,000
& 6,000
OYAXE AHE R 20,000
= 20,000
301 dBtEX =2 24,000 24,000 0
o= 24,000
12 JIEt2 &= 24,000 24,000 0
Ogdal olopoIetE: 24 24,000
= 24,000
307 QI2t01 ™ 1,010,000 970,000 40,000
== 715,000
= 295,000
04 QIZESHALAIE B2 X 1,010,000 970,000 40,000
OYAXXHOIIE HE2ZXNEHS 1,010,000
o= 715,000
= 295,000
401 Al HIL 201 700,000 1,140,000 AN 440,000
o= 410,000
iy 290,000
01 Al&HI 700,000 1,140,000 A 440,000
Obdt=&d ZHAY 300,000
== 150,000
= 150,000
OO0f2t F2XH XAHAY 200,000
o= 200,000
OYENXE==H =& X ¥ F2XH 70,000
OXZHOIIA H2Z AT A 130,000
o= 60,000
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AN 22X =1
M TR MNY d=atst
Ce 2HAI20IB =2F (&)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
o 758,000
401 A& HIZ 201 I 1,916,000 1,800,000 116,000
= 1,158,000
= 758,000
01 A& HI 1,910,000 1,794,000 116,000
OEHE 5129 = ZdAY 1,910,000
s 1,158,000
[ia 752,000
03 Al 20 Hl 6,000 6,000 0
OHl=x sl = XHAY 6,000
LAXNZZHE W 20|t =4 2,600,000 1,000,000 1,600,000
s 2,100,000
= 500,000
401 Al HIZ 201 I 2,600,000 1,000,000 1,600,000
s 2,100,000
= 500,000
01 A& HI 2,597,000 1,000,000 1,597,000
OLAXN=ZHE Lf 220|gtxd 2,597,000
s 2,100,000
s 497,000
03 Al2 S THHI 3,000 0 3,000
OYAXNZEHHE L 20|84 3,000
BeisSE S UNHIIMEE L (HEAY) 200,000 0 200,000
< 100,000
= 100,000
401 AIEHI L 2CHEI 200,000 0 200,000
< 100,000
[ia 100,000
01 A& HI 200,000 0 200,000
OBASS32UNIIBEE 4 (M=) 200,000
= 100,000
[ia 100,000
2= 2= U0 24 1,377,000 600,000 777,000
= 1,368,000
ia 9,000
401 Al HIZ 2018 1,377,000 600,000 777,000
= 1,368,000
= 9,000
01 A& HI 1,368,000 600,000 768,000
OE=s E20UX028 ZEAY 1,368,000
s 1,368,000
03 Al 2 THHI 9,000 0 9,000
OoZ=s 22002 LAY 9,000
HdZHAHAEL0HAHE 3,500 0 3,500
=) 3,500
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SA BRI XD
Hu: BRUANY HeAes
S BBESI|E 25 (25 & @)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 3,500 0 3,500
< 3,500
12243 3,500 0 3,500
OdLN ldsl=s XIJ ALY 3,500
< 3,500
UAXZHOIIE 2ZIBZH [N (HSAY) 1,500,000 1,700,000 A 200,000
= 1,300,000
i 200,000
401 Al HIZ 2018 1,500,000 1,700,000 A 200,000
< 1,300,000
e 200,000
01 A& HI 1,498,000 1,700,000 A 202,000
OYAXZHOIIIR 2ZIIBFEH(FIE)
1,498,000, 000* 14! 1,498,000
< 1,300,000
e 198,000
03 A& =2 I 2,000 0 2,000
OYAXZHOIIE 2FIIBEL(FIE) 2,000
Q5 oA FHAY 600,000 0 600,000
< 100,000
[ia 500,000
401 AIEHI L 201 600,000 0 600,000
< 100,000
s 500,000
01 A& Bl 600,000 0 600,000
O oA2ZX =& S0
400,000,000 14! 400,000
O« A2 FHIAY 200,000
< 100,000
e 100,000
MEHME2ZTNE 2= 521,090 517,250 3,840
AMEH2ZX S3MHA 315,120 313,620 1,500
AN 2223 315,120 313,620 1,500
101 1A dl 78,400 78,400 0
04 JIZHHZ2XREE S 78,400 78,400 0
OBX KHZEIIHNY 28 o2y
150,000+8 L x4&H x4 2| 19,200
O2ZX H=zo2Y 80,000+5& x20H 53] 40,000
OBZX =2 ¢ LY g A
80,000+ 12 5 *43| 19,200
201 Lt 105,720 104,220 1,500
01 At 2t 2l 19,780 17,780 2,000
O=sst&a4a &k ¢ 5,000,000& 14 5,000
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SN RBIXD
MY MHUEBEINY S
S AAEH2ZX SZMHA (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMEN 2F=2 Sl 3,000,000 »14 3,000
O&EAN2EH| 4,000,000& + 1 4,000
OtEr=EZ 10,0002 x6 2+ 12& 720
OAMSN 2120 "D dlEgx 550008 128 660
OANEXH A2 (EHH S) 500,000%43] 2,000
OMdO2Z2X E28 ME 2,000
ORUBHIANAE X5 =2 200,000&~12& 2,400
02 =224l 85,940 86,440 A 500
OAMEH2Z2X IS 30,000
OAMEH2ZX &ot+=E 23 3,600
O&EJ|etE e 9| 250,000 128 3,000
OZ3sFA Bax=E 500,000& *43] 2,000
OANEFH RNBI(SSBEIIY 143 JIHZH
g) 5,000,000& » 14 5,000
Ot ANERANE=> 2,000,000 x14 2,000
OoMdIIEEN 85 ¢ 3,000,000 » 14 3,000
O/des =48 45,0003 x12& 540
OAM&EN =2 A8 KX 22l
3,000,000 x 14 3,000
OAMEH2ZIH 2=AE RAE=>
1,000, 000& 14 1,000
O0e0l=0lAlE RXI2cldl 2,000,000 *1& 2,000
OAMdH22X |A22ldl 10,000,000& 1 10,000
Oz&sas &9 4= 300,000& =63l 1,800
O&EIIANE S 5,000,000 » 14 5,000
OAMED == KXl 22 10,000, 000& =14 10,000
OREs E dlley 2 4,000,000& + 1 4,000
206 M= Hl 27,000 27,000 0
01 =8l 27,000 27,000 0
OEAE =&+ 7Y 10,000, 0002 14! 10,000
OMEHRRZX ZF4 22l 5% 7
5,000,000 » 14 5,000
OAMEN =&+ HEz2g 3,000,000& »14 3,000
OBZEE 23 TY(T0l S)
9,000,000* 12| 9,000
401 AIEHI L 20 92,000 100,000 A8,000
01 A& HI 92,000 100,000 A 8,000
OMEN B2 WM 3A 15,000, 000 14! 15,000
O AtdH2elALR A 2R Ul S A
12,000, 00014 12,000
OAMEN STH2AX & X TS A
15,000, 000% 1A 15,000
OAETH =3t Z&C0I AT SA
40,000,000 14! 40,000
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SH: BBIE

HH: MEXMEAZENE 25
SRl AMECHRIBR 2F Y CERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OMHAN SHEEX 2B & DADA AT
3 A 10,000, 000%* 14! 10,000
405 Ko SHI 12,000 1,000 11,000
01 A&t = S F SHI 12,000 1,000 11,000
O&CZA)| &8HED| 2 12,000,000+ 1CH 12,000
o|AZZX EHIMNA 205,970 203,630 2,340
S H=sHAH 222 205,970 203,630 2,340
101 2121 d| 64,100 64,100 0
04 JIZtHIZ22NSE S 64,100 64,100 0
OoASEH A2, M MO 22| HME=Z
& ol 64,100
201 et A bl 114,770 107,530 7,240
01 At 22l bl 21,560 22,760 A 1,200
OARE 2HEE 2! 3,000,000 1 3,000
Ost&EX & da8s 7Y 500,000& ~12& 6,000
OFEA SXZ2 L +4 5,000,0002 * 14 5,000
oLl H4II UG, BIFHI| WS
130,000& ~12& 1,560
OSSMRHH Hd2=X S|
4,000,000 x 1 4,000
OM=EANd 857 1,000, 000& *1& 1,000
OFAEE F2¢ 1,000, 000& * 1Al 1,000
02 =329l 93,210 84,770 8,440
OdIIe= 3,500,000& x12& 42,000
Ol 2 300,000& x12& 3,600
OEJ|tE 2L =42 150,000& = 12& 1,800
O&EI|A&Hl HIZAN =2 500,000& x 1 500
OARAHHY U HIIHA(HEIS/HSIIST
3, HUAMA 18]) 2,500,000& =1 2,500
OAZOIMAE X 226l 1,000,0002 1 1,000
Ozl |ABE L BN 242
150,000& = 12& 1,800
Oduter)| Metete| 1,200, 000& *23] 2,400
O2IMESHEH L 2AHASH AEE FAZ22
5,000,000& =1 5,000
O2IMESHEH L qQASA 2SI+ FA2L
150,000& *35= 5,250
OgREXNE A&l 2,000,000 *1 2,000
OgREXNS 2| 1,500, 000& =1 1,500
O2stM=4dEH ot& &l cHy| 3,000,000 x23| 6,000
OMIIESHMEETY 1,500, 000& *1& 1,500
Os4des MsE2 s 30,000 x12& 360
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S BB
)

=]
M ME

chelr SABBI BHMM CER-ED
_ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OSSMHEH A8 L AHFELA
6,000,000 *13] 6,000
OoAZBIAU S0 232 HA
8,000,000 =14l 8,000
OB2ANEEH =42 400,000 53| 2,000
206 M = dl 10,500 10,500 0
01 X2 bl 10,500 10,500 0
OClHTH, AR AWM} TH4 el
AlH 2 2RH(HEN, &4&SH 8 2)72Y
7,000,000 =1 7,000
OFIME L JEESEME Y
3,000,000& *1 3,000
Oz (s2dE)| M=)
500,000 =1 500
301 et A= 1,200 1,200 0
12 JIEtE A= 1,200 1,200 0
OZ Il AIF 22|yl 100,000 x12& 1,200
401 AlEHIZL 2 0HY| 13,500 0 13,500
01 Al&H| 13,500 0 13,500
OS24 HEA ED4D| WH
6,500,000 =1CH 6,500
O9AZBJHI &L HSAE THHEA
7,000,000& *1JH & 7,000
405 XHAHF S HI 1,900 16,300 A 14,400
01 AL 2 E F S| 1,900 16,300 A 14,400
OdEE 2¢l 600,000 = 1CH 600
Oolgols g1 2¢ 300,000 = 1CH 300
OAIR4a HED 2 1,000,000 = 1CH 1,000
AAXRAS H A 25 8,437,567 8,332,614 104,953
= 2,054,900
= 6,382,667
INESPIR=IPSE= i 4,545,000 5,547,120 A 1,002,120
& 1,554,900
= 2,990,100
AR AAMAT SHAIS 631,000 677,120 N46,120
201 LBt 9| 107,260 113,260 A 6,000
01 AP 22| H| 100,060 106,060 A 6,000
O AN Y =HEE 28 21
50,000,000 x 14! 50,000
O ME(MHIAE) 58 S= 228
2,000,000 =1 2,000
O XNEJNE g2FA 5,000,000 1Al 5,000
O DEE=Z EHA DID 24|
500,000 1201 & 6,000
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AN 22X =1
HMa: QAR Zae FMAAS
@ X208 deLE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O XIZHOIIE ¥ XIX=0ts SAFIUHE X
=3 20,000,000 =14 20,000
O Y EItAM7 &4 3,000
O XEJ1&88 =l 8,000& x6H 952 4,560
O LAUNIIZE sE2Z 7¢ 475,000& x203| 9,500
02 2324l 7,200 7,200 0
O gAXNEAA2stE2t 2 600,000& «12& 7,200
307 21201 A 404,740 438,860 A 34,120
02 IS AHE L 404,740 438,860 A 34,120
O YaNIZ= EE 2 OHHE S (YANI =
Ho) 80,000,000& =14l 80,000
O LANIIZ EHHeds X2 249,140
O YAUXENE H23%s XY
10,000,000& *70% 7,000
O YANIIEZSE3 Hzl XN&
15,000, 000& 14! 15,000
O YANIEZ=H g2 e X&
22,000,000 =14 22,000
O AN ERel o5ed XA
20,000,000 *90% 18,000
O RA3E3 Mz XA 17,000, 000+80% 13,600
401 AlEHI R 2 0hYI 50,000 50,000 0
01 A& HI 50,000 50,000 0
OXNFENIHEE ANE RANE>
50,000,000& =14l 50,000
402 RIZ2EXt20l ™ 69,000 68,000 1,000
03 212t EFALH HI 69,000 68,000 1,000
O M FSATIML (N EZ=EHESAY)
85,500,000& *40% 34,200
O 2REMH HAINE XNIAMGS(NZ=EHEZ
Abed) 8,000& *7,00071 *30% 16,800
O 22AHTY OINEHAL (N EZ=sEHE S A
) 500,000& *2,000kg*6%*30% 18,000
HsR0(2H) XA 72,000 72,000 0
< 9,900
e 62,100
307 glz2+ol & 72,000 72,000 0
< 9,900
e 62,100
02 HAFHAANGFEE 72,000 72,000 0
OYs==0(8H) XA
2,500,000 * 1200 3 «6H x40% 72,000
< 9,900
s 62,100
M3 SEAAMEZHAH SHAL (HSAIY) 2,040,000 2,390,000 A 350,000

- 220 -




PN 22X EZD
M QAR AWAAS
Sl XXJ18 ded st (22 &d)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
T 1,545,000
= 495,000
307 glztol & 1,900,000 1,900,000 0
S 1,425,000
= 475,000
02 I FAMAEE 1,500,000 1,500,000 0
OYENXEZZHAH MEH 2 450,000
S 337,500
[a 112,500
OX=4ty 2dAe Hat 60,000
= 45,000
= 15,000
ORIISYM 28 243t 60,000
S 45,000
[a 15,000
ORISHS ¢d&H 23 X2 180,000
= 135,000
= 45,000
Oga RU4Z AEH ARMY X 100,000
S 75,000
[a 25,000
OYANI=E 22 & OHAHE =& 500,000
= 375,000
s 125,000
OYANXE ZOHOHHE 238t 100,000
£ 75,000
[a 25,000
OMEE OleE 24X & 50,000
= 37,500
s 12,500
04 QIZHHALALH B £ 400,000 400,000 0
OYANXIEZ=H MK 400,000
£ 300,000
[a 100,000
402 QI2tXt=01 ™ 140,000 490,000 /350,000
= 120,000
= 20,000
02 (IR 2 AL E X (0IETHR) 140,000 490,000 350,000
ORISYH AMEML K&
200,000,000& *70% 140,000
S 120,000
[Ea 20,000
YANTIZEH =F(XHA) 402,000 408,000 6,000
201 2Bt2 Yl 2,000 2,000 0
01 AtR 2t 2l | 2,000 2,000 0
OXXZ=H&EH =&l 2,000, 000& *1 2,000
307 212t0l & 400,000 400,000 0




AN 22X =1
HMa: QAR Zae FMAAS
@ X208 deLE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZFHALAIH E = 400,000 400,000 0
OYaNIESHZ=& 400,000,000& =14 400,000
LAXNE AA25t2 AY 1,400,000 2,000,000 A 600,000
401 AIEHI L 2 CHYI 1,400,000 2,000,000 A 600,000
01 A& HI 1,400,000 1,993,000 A 593,000
OYMIZ AAMSEZ HE
1,400,000, 00014 1,400,000
RGN ZARA E4 597,667 608,494 A 10,827
XA BZATRL 2He| 2 597,667 608,494 A 10,827
306 ¢ 3 597,667 608,494 A 10,827
01 &3 597,667 608,494 A 10,827
O ZAFHRA SIS 597,667
X4 DIt = 1,917,000 877,000 1,040,000
LA zde 2229 1,410,000 877,000 533,000
306 £ 3 700,000 650,000 50,000
01 &3 700,000 650,000 50,000
OYAXZHDOIZE &=HZ 700,000,000 141 700,000
401 AIEHIZL 2CHYI 710,000 125,000 585,000
01 A& Bl 710,000 125,000 585,000
OYAXIZHOIA ANEE2x & SAFIHE &
=]l 410,000,000& =14 410,000
O=4dXE M4 ZH & JIHFY
300,000,000& =14 300,000
AAMXXHOIIIT ARAAMSAS HE 507,000 0 507,000
401 AIEHI L 20 507,000 0 507,000
01 A& HI 505,000 0 505,000
AAXZHOIR HesAsS A8
505,000,000 =14 505,000
03 Al S HHI 2,000 0 2,000
AAXZHOIR HesAsS AHE
2,000,000& 14! 2,000
X Z23HA =& 24H35t 1,377,900 1,300,000 77,900
< 500,000
[ia 877,900
XANZHOIB2 ZEAG (M) (HSAY) 1,000,000 1,100,000 A 100,000
< 500,000
e 500,000
401 A& HIZ 2018 1,000,000 1,100,000 A 100,000
< 500,000
e 500,000
01 A& HI 998,000 1,100,000 A 102,000
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AN 22X =1
HMa: QAR Zae FMAAS
Sl XA =8 2435 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OYAUNXZE SEHNSE =& A
998,000,000 =14l 998,000
< 500,000
s 498,000
03 Al S THHI 2,000 0 2,000
OYENXZE sEHOSHE ZEAMY 2,000
LQAXZHOIIIR AHHE ZHOIY 222 (MEAY) 377,900 200,000 177,900
101 @124 dl 82,800 0 82,800
VBIESEEP =P 82,800 0 82,800
O0I® 22l JI2H 2P
18,000, 000& »4H 72,000
OFOIY 447 ol ARY B
80,000& x903| 7,200
OZDIA 22X 2+HAlH| 6,000 *4H %1502 3,600
201 Let24d] 39,900 0 39,900
01 At 22l 16,600 0 16,600
OZ0IA 22l MY =&t 3,000,000 » 14 3,000
oXgs & gt 400,000& »4H 1,600
OO0 2228235 7Y 1,000, 000& *43| 4,000
OZDIY 2e| P+ 2 500,000 *43| 2,000
OEE /g =l 3,000,000& x2H 6,000
02 =224l 23,300 0 23,300
OFOIA 22l Ad |X E=
20,000,000& » 14 20,000
OXt& & JIH &l 3,000,000 x14 3,000
OoMdIIEEN 85 ¢ 300,000& 14 300
206 T 24 55,200 0 55,200
01 =4l 55,200 0 55,200
OX0IA 22ATHE B2 7¢
30,000,000& x14 30,000
OO0l 228 Hzg 7¢ 20,000,000 » 14 20,000
OOl 228 s ¢ 5,000,000& » 14 5,000
OJIAH A Z2HI 200,000& 14 200
401 Al HIZ 201 I 200,000 200,000 0
01 A& HI 200,000 200,000 0
OFOl B2 Al ZA 100,000,000+ 14! 100,000
OZ0l HE SA 100,000, 000* 14! 100,000
o2 727,950 808,800 /80,850
< 630,000
i 97,950
NASHEE OIS AlE 727,950 808,800 80,850
< 630,000
[ia 97,950
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SN RBIXD
HE: GoEFRH
& NHHEIEH 0IAE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Aabh o = M2 LAY (M) (HEAY 727,950 800,000 AT2,050
)
< 630,000
[ia 97,950
201 Let2d] 8,000 0 8,000
01 At 22l 8,000 0 8,000
OEE=EE % Z2M=E S N= 8,000
206 M= Hl 12,000 0 12,000
< 10,000
s 2,000
01 =8l 12,000 0 12,000
Od==4 MEME M7 12,000
< 10,000
e 2,000
207 A RO H| 8,000 0 8,000
< 8,000
01 289 8,000 0 8,000
O&=4 WHTUAXZA HRESA 8,000
< 8,000
307 21201 A 12,000 0 12,000
< 12,000
02 IS AHE L 12,000 0 12,000
Od=4 HZ0HLM E2AM 22 12,000
< 12,000
401 Al HIZ 201 I 687,950 800,000 A 112,050
= 600,000
i 87,950
01 A& HI 684,040 795,000 A 110,960
O&=4t 29 = MEf22X LAY (HE 684,040
< 600,000
s 84,040
03 Al S THHI 3,910 5,000 A 1,090
Od==4t 29 = MH22ZX &AM (EE 3,910
eSS A 245t 4,000,000 2,500,000 1,500,000
< 2,000,000
s 2,000,000
el sSSdg =4 4,000,000 2,500,000 1,500,000
< 2,000,000
s 2,000,000
Bt SSXN2HE A (HE) 4,000,000 2,000,000 2,000,000
< 2,000,000
s 2,000,000
401 AIEHI L 2CHEI 4,000,000 2,000,000 2,000,000
< 2,000,000
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22X Xt
eSS4 2435
B S S MR SEREED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 2,000,000
01 Al&H| 3,992,000 2,000,000 1,992,000
OBtASSXAME HE (X&) 3,992,000
= 2,000,000
= 1,992,000
03 Al 204 Y| 8,000 0 8,000
QL SSXKAME HE (HEH) 8,000
HEeEsS (XX 85,000 0 85,000
SRS DNES 85,000 0 85,000
XX KN = A 85,000 0 85,000
311 X 20| XHak &t 85,000 0 85,000
02 S22 XL 20| AHakst 85,000 0 85,000
OsZHDESE =4 XMY2S 0l AHAE 85,000
HMSEAY (XX 66,336 63,960 2,376
JlE&dl 66,336 63,960 2,376
XX I =2FH] 66,336 63,960 2,376
201 et d| 34,920 36,000 A 1,080
01 AP 22| H| 34,920 36,000 A 1,080
OSSO & 17,320
OS2 H SHM A 3,200
Oga 44 2 X 60,000 120 *2 04 & 14,400
202 04| 27,216 23,760 3,456
01 2L Hl 27,216 23,760 3,456
O H &F 27,216
203 €2 F=&d| 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
O&ZXNEZ BEXN2Y 350,000 x12& 4,200
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